
Lec 21
Standard basis vecs for Rd with d>3.

e, = 11.0, .., 08
Ci = 10.., 1,....07

ith coordinate

# Dot Product "inner product"

Then it=
Some properties

verge raisin of product forin same din.

. .= .й
. й-й = Nù 2

* Proofs follow from defuition

aka

Def.

A scaler



Dot prod applications
* Measuring angles û: 40,3,- 33V = (2,1.-1)

Find angle between them.

Theorewn "Physicists' dot product"
= Uü/NÜl cos o = cos" (073#3

=cos''

By law of cos:
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Proof:

к 54.7°



* Vector projection
Let ü, ™ eRd
Projù (V) measures portionin direction of Projection of i onto i

Proji (V)

SE = 40

Called scalar proisction/ Denoted Li

Formula:
Projü(i) = MaMa

Well, in i gives unit verter in dis of it
Also cos = roll

So They = Ion a x = Is

In R' fund set of vectors i sit. compülü) = K for i to and I constant.

This live! Try do it sing formula
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